
ČESKÝ JAZYK 

Procvičujeme psaní . 

                                    Dnes ve slabikách     :       

PAMATUJ: 

ď+ e = dě                    ť + e =tě                             ň + e = ně 

Háček se píše nad „e“ !   dě, tě, ně, Dě, Tě, Ně 

 

Piš podle vzoru: 

chata      –   na chatě 

stěna      –   na    _____________ 

třída      –     ve    _____________ 

vana      –     ve   ______________  

oheň     –       u   ______________ 

město   –      ve  ______________ 

voda      –     ve  ______________ 

místo     –    na   ______________ 

Brno      –      v   ______________ 

příroda  –     v   ______________ 


